6.8 Stoke’s” Theoren

..L_i{swoeqp-lﬂo« . Stokes” Theovern can be %c@/ﬂf' qf as
o Verston of Grreen’s  Theoren which. aplies do sudace B4
3D sgpace . In Joet 5t woull be more accurcde 4o say-
ﬂ@‘&' é(ma% ﬂeor&n 25 A \ersisa QC Sﬁkeé/ _ﬂesw W/LE/\
e sudoce & In Mo XY-plne .

x,
2.

om—y

K

Dduced. Odertebor . Tf C o He edge oF S ond
Her C dowes an ovechabbi on S ushg He vight
Fad 1 H dour frgess folbw S orbertrdion dhes
Your Jhumb "Fodw(ra 34 an okerdded Jor 5.

3. Slohes’ Tleorem - Suppose. C 2 the edge of S and
Mo obedntion of S % ddued by Ko oMedati of C,

j;?_}' Ay = ﬂé (Vx?)- oS

Rowrk ) (e shoks's Treomm 4o evpluste  J. B+ dF Hrowh o
JOKOW% procedure .



We can compube Hhe Pl arswer Jon b ke %wﬁ

o> o Shohes favameiqedion %
\SC‘\-’-JV ?ﬂw\>i[§ %——;7 :L“(j‘ LJ:‘(*

D Inequalibies

Notbee Hod  someddmes Ha m%no{r be So\mp(e,r co»«?amﬂ( )

kg pammebigablon for [ B dP  divectly .

(9 (Nob Reguired)  We wse Shokes’ Theorem o clerve. Greea's

Aeorem . S3ce. Gyeens Theorem 3¢ 24 2D _ we (ousicder
Flod.a)y = Py Te Qug i + 0 K

Then VXF7=<O/OI%‘%§“

ézlmceg‘s S W XY-plre . we Lave_ W=<o0.0,1>

1P (-2 da

%WC&%ecumem

- He sudece I = 9- AT fyiy
; aéove- 4&‘%“%[& Wé%

Verhes (p.0,0) (2,9, O),(Q,I,‘ﬂ

anol gm)é@ wm'terc/ocszﬁe
oVderdatisn whea vsewed from
Jd above. . E\zﬁf»@:f-&

I 2o« xadg ¢ ad
Solublon - Fty,3)= < 24, L& . F > .
IxF= L =A, 0, F=-2>




by Slokes” Theorem

jof' dr = &[(5 {-%X.0,82>. n RS
Parometngedon of 5
Tt )= X T+ 47+ @-x0)F

oxxX<2 , 0s4s |-3-
—-.7 —
Y =<V, 0, —2X> )§=<O,*|, 0>
Gix g = < 2%, O, | >
>0

From Ahe ?(o%, we see. that- He ohﬁen:(mqbaécr- S o5
u‘fWaYJ- % Yo Vng(r foand. yule . 30

Jo <xonaonn - @ s
:%HD <»X, o @-x1)-1> . L, 0. 1> dA
=, -2+ q- -2 dA

=, T = 3> oA



Ted-Ex | : Evdsbe |, F AT where
Food, = -4 T+ 17+ 3k aod C 5 H#e

cuvve/eqc Mhersectisn of He 1;(:«9, 4€& =2 and Yo
%-Ew(ar G+ 4= | ad ﬁaw& Cooméem(oc/{w;;’:e o Heatatbeon
\A/Ae/L Veewed. &Orn, q,LoUQ .

Solubsn s By vight Aand vule , 0ededor of S & wpuard

Shve JxF = <L O 5 O . |+ 34> , we Zae

XCTJ Ay = &(\S <o.0, 42>+ N ds
with S oreded upwards © ANow corsider Takame;(n‘qq{wb@

& 5 VLY, 8) = < Yeosto), Ysalo) , 2= Yshie)>

O<Oe=< 2 . O ¥ = |

Ty = £ ©05(8) , Shl8) . — Shi8) >

Yo = <= vshle), Yewsle) . — ¥ os(e) >

£V 7 a:l'alxea Seske
XY = <o, r . r> "‘%f‘””ﬂﬂ"

%o ‘-(—(5 <o,o0. (+24> - n &S
Q\KD U'\- l&)z7 e {o,¥v, r> dA

'—"—KD Q—-’& LYM@)) v dA



Y+ avsule) dr ds

0
Y= |
@
= [ [Eee 2Pam]
D Y=o

\L L+ 2 4us) de

Text-Ex 2 uSrQ_ s‘bo)ieé( ‘ﬂeomm 4o Com?umla #e.z}d%ra(

I
C—
° X
L/_-—?—

S.

"

27

9 - %CO§L9)}O =. TL )

|

v

[ @xF) R ds whee Fuga-<a, ¥, x>

wd 5 5 de ok of He sphoe xieqre T dhaf
Ayes dswde 4he C@ﬁwfek 2% =] aﬂiw
( 5 & ovended wpumds )

50(/&,5&4 We wse Shohes’ Theoren -b «lfrarwg[er Hhe suace_

Megral b a e dotegral .
ffo (9x®) Rds = F

C
Promebigablor of

Fl) = coob) T+ salh T4 o3 K

D st 29
Ths D> because . 35 dhe  Dvbersectlon of

5(.:_'6' q}__e %l": L!. - >‘Ll*€- %L\_—_’

From. e two egudlons abwe | we  Aawe
I 2

L+ g? = _ = 3



Shee 5 55 abve e XY- Hae . d= [3 .
We also see #at C choulbl FAwe an oredflon
(oundeyclocknsse  whea Viewed. qqfam above Comﬁé'v-‘ﬂ- all

®<f~ Yese Jacks . we can come wyp with e ?m»zes’rfaq%1
o C .

L xE) T ds
=¥ a7
= jj F(¥ity) - F4) df
From  Fle g4, d) = <XF. yYa. 14> ad
TVHYy = < tostd). shlé) , J3>
we Aawe |

e

?(?’G)) = < 3 wosd) | 3 shall) / cgawﬂ»m)
Also ')’?/(-(;) = <\-—5m{) , cos(€) , © >

' K >,
flence fa F (¥ ) Pt) ot
:.;f <,J5m(“,(\(§£ug)/ cosl4) Sht) >
* K -sb) L s lt) L 0 > dt

=l‘§r\ o d = o



